

On a Class of Differential Equations of Second Order with Polynomial Coefficients

*Boro Piperevski*¹, *Elena Hadzieva*²,
*Nevena Serafimova*³, *Katerina Mitkovska-Trendova*⁴

Presented at Internat. Congress "MASSEE' 2003", 4th Symposium "TMSF"

In this article we observe a class of linear differential equation of second order,

$$(x - x_1)(x - x_2)(x - x_3)y'' + (b_2x^2 + b_1x + b_0)y' + (c_1x + c_0)y = 0,$$

where $x_1, x_2, x_3, b_2, b_1, b_0, c_1, c_0$ are real numbers. Some substitutions for the given equation are introduced using the coefficient of y'' and with their help, some existence conditions for the integrability of the new equations are obtained, which contain a natural number.

AMS Subj. Classification: 34-A05

Key Words: ordinary differential equations, special general solution, polynomial solutions, existence conditions

We observe the second order differential equation of the form

$$(1) \quad (x - x_1)(x - x_2)(x - x_3)y'' + (b_2x^2 + b_1x + b_0)y' + (c_1x + c_0)y = 0,$$

where $x_1 \neq x_2 \neq x_3$.

In [1], it was already proven that, in order to have one polynomial solution, the equation (1) has to satisfy the conditions:

$$(2) \quad \begin{aligned} n^2 + (b_2 - 1)n + c_1 &= 0, \\ b_0 + x_2x_3 - (x_2 + x_3)x_1 + (b_2 + 1)x_1^2 + b_1x_1 &= 0, \\ c_0b_1 + c_0^2 - c_1b_0 + (c_1 + b_2)(c_1x_1 + 2c_0)x_1 &= 0. \end{aligned}$$

(The first equation in (2) is the characteristic equation of the differential equation (1).) In such a case, the polynomial solution of (1) is given with the formula

$$(3) \quad y = e^{-F} [(x+K)(x-x_2)^{n-1}(x-x_3)^{n-1}e^F]^{(n-1)},$$

where

$$(4) \quad \begin{aligned} F &= \int \frac{Mx+N}{(x-x_1)(x-x_2)} dx, \quad M = b_2 - 1, \\ N &= b_1 + x_1 + x_1 b_2, \quad K = -\frac{x_1 c_1 + n(b_1 + 2x_1 b_2 + x_1 c_1 + c_0)}{c_1}. \end{aligned}$$

Now, we will obtain the general solution of (1), using different procedure than the one used before. To this purpose, we start with the equation

$$\begin{aligned} &(Sx+T)(x+K)(x^2+Qx+R)u'' + [\beta_2 x^2 + \beta_1 x + \beta_0] + 2(Sx+T) \cdot \\ &\cdot (x^2+Qx+R) + (n-1)(x+K)(Sx+T)(2x+q) - \\ &-(n-1)S(x+K)(x_2+Qx+R)]u' = 0 \end{aligned}$$

Using the substitution $v = (x+K)(x^2+Qx+R)^{n-1}e^{\int \frac{Mx+N}{x^2+Qx+R}dx}u$ and according to conditions (2'), we get the transformed equation

$$\begin{aligned} &(Sx+T)(x^2+Qx+R)v'' + \{-2(Sx+T)(Mx+N) + (\beta_2 x_2 + \beta_1 x + \beta_0) \\ &-(n-1)[S(x^2+Qx+R) + (Sx+T)(2x+Q)]\}v' + \{(Mx+N) \\ &\times (2S+MS-\beta_2) + \beta_1 x + \beta_0 - M(Sx+T) - (n-1)[-2S(Mx+N) \\ &-2M(Sx+T) + 2\beta_2 x + \beta_1] + n(n-1)[S(2x+Q) + (Sx+T)]\}v = 0. \end{aligned}$$

After differentiating the last equation $n-1$ times and putting $v^{(n-1)} = z$, we obtain the equation

$$\begin{aligned} &(Sx+T)(x^2+Qx+R)z'' + [-2(Sx+T)(Mx+N) + (\beta_2 x_2 + \beta_1 x + \beta_0)]z' \\ &+ [(Mx+N)(2S+MS-\beta_2) + \beta_1 x + \beta_0 - M(Sx+T)]z = 0. \end{aligned}$$

Finally, the last substitution $z = e^{\int \frac{Mx+N}{x^2+Qx+R}dx}y$ leads to an equation of the same type as (1),

$$(1') \quad (Sx+T)(x^2+Qx+R)y'' + (\beta_2 x_2 + \beta_1 x + \beta_0)y' + (\beta_1 x + \beta_0)y = 0.$$

Now according to the above transformations, we can state the general solution of (1'):

$$(4') \quad y = e^{-F} \left\{ (x+K)(x^2+Qx+R)^{n-1} e^F \right. \\ \left. \times \left[C_1 + C_2 \int (Sx+T)^{n-1} (x^2+Qx+R)^{1-n} (x+K)^{-2} dx \right] \right\}^{(n-1)},$$

where

$$F = \int \frac{Mx+N}{x^2+Qx+R} dx, \quad M = \frac{\beta_2 - S}{S}, \\ N = \frac{\beta_1 - T}{S} - \frac{T\beta_2}{S^2}, \quad K = \frac{T\gamma_1 - n(S\beta_1 - 2T\beta_2 - T\gamma_1 + S\gamma_0)}{S\gamma_1}.$$

The conditions for the existence of one polynomial solution of (1') are given with:

$$(2') \quad \begin{aligned} Sn^2 + (\beta^2 - S)n + \gamma_1 &= 0 \\ S^2(\beta_0 - TQ + SR) + T^2(\beta_2 + S) - T\beta_1 S &= 0 \\ S^2(\gamma_0\beta_1 + \gamma_0^2 - \gamma_1\beta_0) + T(\gamma_1 + \beta_2)(T\gamma_1 - 2S\gamma_0) &= 0. \end{aligned}$$

If we put $S = 1$, $T = -x_1$, $Q = -(x_2 + x_3)$, $R = x_2x_3$, where $x^2 + Qx + R = (x - x_1)(x - x_3)$, we obtain a general solution formula for the equation (1),

$$(4'') \quad y = e^{-F} \left\{ (x+K)(x-x_2)^{n-1}(x-x_3)^{n-1} e^F \right. \\ \left. \times \left[C_1 + C_2 \int (x-x_1)^{n-1}(x-x_2)^{1-n}(x-x_3)^{1-n}(x+K)^{-2} dx \right] \right\}^{(n-1)}.$$

Theorem 1. *If the conditions (2) to the differential equation (1) are satisfied, then this equation has one polynomial solution given with the formula (3), while the general solution is given with the formula (4'').*

Now, we introduce substitutions to the equation (1) which are given with

$$(5) \quad y = (x-x_1)^\alpha (x-x_2)^\beta (x-x_3)^\gamma z.$$

It was already proven in [2] that, applying these substitutions, we can obtain at most seven other differential equations of the same type as (1):

$$(6) \quad (x-x_1)(x-x_2)(x-x_3)z_1'' + (b_2^1x^2 + b_1^1x + b_0^1)z_1' + (c_1^1x + c_0^1)z_1 = 0$$

$$(7) \quad (x-x_1)(x-x_2)(x-x_3)z_2'' + (b_2^2x^2 + b_1^2x + b_0^2)z_2' + (c_1^2x + c_0^2)z_2 = 0$$

$$(8) \quad (x - x_1)(x - x_2)(x - x_3)z_3'' + (b_2^3x^2 + b_1^3x + b_0^3)z_3' + (c_1^3x + c_0^3)z_3 = 0$$

$$(9) \quad (x - x_1)(x - x_2)(x - x_3)z_4'' + (b_2^4x^2 + b_1^4x + b_0^4)z_4' + (c_1^4x + c_0^4)z_4 = 0$$

$$(10) \quad (x - x_1)(x - x_2)(x - x_3)z_5'' + (b_2^5x^2 + b_1^5x + b_0^5)z_5' + (c_1^5x + c_0^5)z_5 = 0$$

$$(11) \quad (x - x_1)(x - x_2)(x - x_3)z_6'' + (b_2^6x^2 + b_1^6x + b_0^6)z_6' + (c_1^6x + c_0^6)z_6 = 0$$

$$(12) \quad (x - x_1)(x - x_2)(x - x_3)z_7'' + (b_2^7x^2 + b_1^7x + b_0^7)z_7' + (c_1^7x + c_0^7)z_7 = 0$$

Here we have used the following groups of indexed coefficients:

$$b_2^1 = 2\alpha + b_2, \quad b_1^1 = -(2\alpha x_3 + 2\alpha x_2 - b_1), \quad b_0^1 = 2\alpha x_2 x_3 + b_0,$$

$$c_1^1 = \alpha(\alpha - 1) + \alpha b_2 + c_1,$$

$$c_0^1 = \alpha(\alpha - 1)(x_1 - x_2 - x_3) + \alpha(b_2 x_1 + b_1) + c_0,$$

$$b_2^2 = 2\beta + b_2, \quad b_1^2 = -(2\beta x_1 + 2\beta x_3 - b_1), \quad b_0^2 = 2\beta x_1 x_3 + b_0,$$

$$c_1^2 = \beta(\beta - 1) + \beta b_2 + c_1,$$

$$c_0^2 = \beta(\beta - 1)(x_2 - x_3 - x_1) + \beta(b_2 x_2 + b_1) + c_0,$$

$$b_2^3 = 2\gamma + b_2, \quad b_1^3 = -(2\gamma x_1 + 2\gamma x_2 - b_1), \quad b_0^3 = 2\gamma x_1 x_2 + b_0,$$

$$c_1^3 = \gamma(\gamma - 1) + \gamma b_2 + c_1,$$

$$c_0^3 = \gamma(\gamma - 1)(x_3 - x_2 - x_1) + \gamma(b_2 x_3 + b_1) + c_0,$$

$$b_2^4 = 2\alpha + 2\beta + b_2, \quad b_1^4 = -(2\alpha x_3 + 2\alpha x_2 + 2\beta x_1 + 2\beta x_3 - b_1),$$

$$b_0^4 = 2\alpha x_2 x_3 + 2\beta x_1 x_3 + b_0,$$

$$c_1^4 = 2\alpha\beta + \alpha(\alpha - 1) + \beta(\beta - 1) + (\alpha + \beta)b_2 + c_1,$$

$$c_0^4 = -2\alpha\beta x_3 + \alpha(\alpha - 1)(x_1 - x_2 - x_3) + \beta(\beta - 1)(x_2 - x_3 - x_1) \\ + \alpha(b_2 x_1 + b_1) + \beta(b_2 x_2 + b_1) + c_0,$$

$$b_2^5 = 2\alpha + 2\gamma + b_2, \quad b_1^5 = -(2\alpha x_3 + 2\alpha x_2 + 2\gamma x_1 + 2\gamma x_2 - b_1),$$

$$b_0^5 = 2\alpha x_2 x_3 + 2\gamma x_1 x_2 + b_0,$$

$$c_1^5 = 2\alpha\gamma + \alpha(\alpha - 1) + \gamma(\gamma - 1) + (\alpha + \gamma)b_2 + c_1,$$

$$c_0^5 = -2\alpha\gamma x_2 + \alpha(\alpha - 1)(x_1 - x_2 - x_3) + \gamma(\gamma - 1)(x_3 - x_2 - x_1)$$

$$+\alpha(b_2x_1 + b_1) + \gamma(b_2x_3 + b_1) + c_0,$$

$$\begin{aligned} b_2^6 &= 2\beta + 2\gamma + b_2, & b_1^6 &= -(2\beta x_1 + 2\beta x_3 + 2\gamma x_1 + 2\gamma x_2 - b_1), \\ b_0^6 &= 2\beta x_1 x_3 + 2\gamma x_1 x_2 + b_0, \\ c_1^6 &= 2\beta\gamma + \beta(\beta - 1) + \gamma(\gamma - 1) + (\beta + \gamma)b_2 + c_1, \\ c_0^6 &= -2\beta\gamma x_1 + \beta(\beta - 1)(x_2 - x_3 - x_1) + \gamma(\gamma - 1)(x_3 - x_2 - x_1) \\ &+ \beta(b_2x_2 + b_1) + \gamma(b_2x_3 + b_1) + c_0, \end{aligned}$$

$$\begin{aligned} b_2^7 &= 2\alpha + 2\beta + 2\gamma + b_2, \\ b_1^7 &= -(2\alpha x_3 + 2\alpha x_2 + 2\beta x_1 + 2\beta x_3 + 2\gamma x_1 + 2\gamma x_2 - b_1), \\ b_0^7 &= 2\alpha x_2 x_3 + 2\beta x_1 x_3 + 2\gamma x_1 x_2 + b_0, \\ c_1^7 &= 2\alpha\beta + 2\beta\gamma + 2\alpha\gamma + \alpha(\alpha - 1) + \beta(\beta - 1) + \gamma(\gamma - 1) + (\alpha + \beta + \gamma)b_2 + c_1, \\ c_0^7 &= -2\alpha\beta x_3 - 2\alpha\gamma x_2 - 2\beta\gamma x_1 + \alpha(\alpha - 1)(x_1 - x_2 - x_3) \\ &+ \beta(\beta - 1)(x_2 - x_3 - x_1) + \gamma(\gamma - 1)(x_3 - x_2 - x_1) \\ &+ \alpha(b_2x_1 + b_1) + \beta(b_2x_2 + b_1) + \gamma(b_2x_3 + b_1) + c_0, \end{aligned}$$

where

$$\begin{aligned} (13) \quad \alpha &= 1 - \frac{b_2x_1^2 + b_1x_1 + b_0}{(x_3 - x_1)(x_2 - x_1)}, & \beta &= 1 - \frac{b_2x_2^2 + b_1x_2 + b_0}{(x_1 - x_2)(x_3 - x_2)}, \\ \gamma &= 1 - \frac{b_2x_3^2 + b_1x_3 + b_0}{(x_1 - x_3)(x_2 - x_3)}, \end{aligned}$$

and the substitutions for each of the equations are adequately given with

$$\begin{aligned} (13') \quad y &= (x - x_1)^\alpha z_1, & y &= (x - x_2)^\beta z_2, & y &= (x - x_3)^\gamma z_3 \\ y &= (x - x_1)^\alpha (x - x_2)^\beta z_4, & y &= (x - x_1)^\alpha (x - x_3)^\gamma z_5, \\ y &= (x - x_2)^\beta (x - x_3)^\gamma z_6, & y &= (x - x_1)^\alpha (x - x_2)^\beta (x - x_3)^\gamma z_7. \end{aligned}$$

The conditions for the existence of one polynomial solution for each of the above equations (6)-(12), according to the previously stated, are:

$$\begin{aligned} (6') \quad n^2 + (b_2^1 - 1)n + c_1^1 &= 0, \\ b_0^1 + x_2x_3 - (x_2 + x_3)x_1 + (b_2^1 + 1)x_1^2 + b_1^1x_1 &= 0, \\ c_0^1b_1^1 + (c_0^1)^2 - c_1^1b_0^1 + (c_1^1 + b_2^1)(c_1^1x_1 + 2c_0^1)x_1 &= 0, \end{aligned}$$

$$\begin{aligned}
 (7') \quad & n^2 + (b_2^2 - 1)n + c_1^2 = 0, \\
 & b_0^2 + x_2x_3 - (x_2 + x_3)x_1 + (b_2^2 + 1)x_1^2 + b_1^2x_1 = 0, \\
 & c_0^2b_1^2 + (c_0^2)^2 - c_1^2b_0^2 + (c_1^2 + b_2^2)(c_1^2x_1 + 2c_0^2)x_1 = 0,
 \end{aligned}$$

$$\begin{aligned}
 (8') \quad & n^2 + (b_2^3 - 1)n + c_1^3 = 0, \\
 & b_0^3 + x_2x_3 - (x_2 + x_3)x_1 + (b_2^3 + 1)x_1^2 + b_1^3x_1 = 0, \\
 & c_0^3b_1^3 + (c_0^3)^2 - c_1^3b_0^3 + (c_1^3 + b_2^3)(c_1^3x_1 + 2c_0^3)x_1 = 0,
 \end{aligned}$$

$$\begin{aligned}
 (9') \quad & n^2 + (b_2^4 - 1)n + c_1^4 = 0, \\
 & b_0^4 + x_2x_3 - (x_2 + x_3)x_1 + (b_2^4 + 1)x_1^2 + b_1^4x_1 = 0, \\
 & c_0^4b_1^4 + (c_0^4)^2 - c_1^4b_0^4 + (c_1^4 + b_2^4)(c_1^4x_1 + 2c_0^4)x_1 = 0,
 \end{aligned}$$

$$\begin{aligned}
 (10') \quad & n^2 + (b_2^5 - 1)n + c_1^5 = 0, \\
 & b_0^5 + x_2x_3 - (x_2 + x_3)x_1 + (b_2^5 + 1)x_1^2 + b_1^5x_1 = 0, \\
 & c_0^5b_1^5 + (c_0^5)^2 - c_1^5b_0^5 + (c_1^5 + b_2^5)(c_1^5x_1 + 2c_0^5)x_1 = 0,
 \end{aligned}$$

$$\begin{aligned}
 (11') \quad & n^2 + (b_2^6 - 1)n + c_1^6 = 0, \\
 & b_0^6 + x_2x_3 - (x_2 + x_3)x_1 + (b_2^6 + 1)x_1^2 + b_1^6x_1 = 0, \\
 & c_0^6b_1^6 + (c_0^6)^2 - c_1^6b_0^6 + (c_1^6 + b_2^6)(c_1^6x_1 + 2c_0^6)x_1 = 0,
 \end{aligned}$$

$$\begin{aligned}
 (12') \quad & n^2 + (b_2^7 - 1)n + c_1^7 = 0, \\
 & b_0^7 + x_2x_3 - (x_2 + x_3)x_1 + (b_2^7 + 1)x_1^2 + b_1^7x_1 = 0, \\
 & c_0^7b_1^7 + (c_0^7)^2 - c_1^7b_0^7 + (c_1^7 + b_2^7)(c_1^7x_1 + 2c_0^7)x_1 = 0,
 \end{aligned}$$

and the formula for each of the related polynomial solutions is given with

$$(14) \quad z_i = e^{-F_i} [(x + K_i)(x - x_2)^{n-1}(x - x_3)^{n-1}e^{F_i}]^{(n-1)},$$

while the related general solution is given with

$$\begin{aligned}
 (15) \quad & z_i = e^{-F_i} \left\{ (x + K_i)(x - x_2)^{n-1}(x - x_3)^{n-1}e^{F_i} \right. \\
 & \times \left. \left[C_1 + C_2 \int (x - x_1)^{n-1}(x - x_2)^{1-n}(x - x_3)^{1-n}(x + K_i)^{-2}dx \right] \right\}^{(n-1)},
 \end{aligned}$$

$$i = 1, 2, 3, 4, 5, 6, 7,$$

where

$$F_i = \int \frac{M_i x + N_i}{(x - x_2)(x - x_3)} dx, \quad M_i = b_2^i - 1, \quad N_i = b_1^i + x_1 + x_1 b_2^i,$$

$$K_i = -\frac{x_1 c_1^i + n(b_1^i + 2x_1 b_2^i + x_1 c_1^i + c_0^i)}{c_1}, \quad i = 1, 2, 3, 4, 5, 6, 7.$$

Theorem 2. *Given the differential equation (1), and if there is a number $n \in \mathbb{N}$ (the smaller if there are two nulls of the characteristic equation) for which at least one of the conditions (2), (6'), (7'), (8'), (9'), (10'), (11') and (12') hold, then the equation (1) is solvable in closed form. In addition, with (13') and (14) we obtain the formula for one of its particular solutions, while (15) gives the formula for the general solution, while (15) gives the formula for the general solution.*

Other existence conditions for integrability of (1) are obtained in [3, 4].

Example. We consider the differential equation

$$(x - 1)(x + 1)(x - 3)y'' - (3x^2 + 6x - 1)y' + 4(x + 1)y = 0.$$

It has one polynomial solution

$$y_1 = (x + 1)^2,$$

while the general solution is

$$(16) \quad y = C_1 ((x + 1)^2 \ln(x + 1) + 2) + C_2 (x + 1)^2.$$

Having $\alpha = \beta = \gamma = 2$ and using the appropriate substitutions, one can obtain seven different transformational equations:

$$\begin{aligned} (x - 1)(x + 1)(x - 3)z_1'' + (x^2 + 10x + 13)z_1' - 4z_1 &= 0, \\ (x - 1)(x + 1)(x - 3)z_2'' + (x^2 + 2x - 11)z_2' &= 0, \\ (x - 1)(x + 1)(x - 3)z_3'' + (x^2 - 6x - 3)z_2' + 4z_3 &= 0, \\ (x - 1)(x + 1)(x - 3)z_4'' + (5x^2 + 18x + 1)z_4' + (4x + 20)z_4 &= 0, \\ (x - 1)(x + 1)(x - 3)z_5'' + (5x^2 + 10x + 9)z_5' + (4x + 4)z_5 &= 0, \\ (x - 1)(x + 1)(x - 3)z_6'' + (5x^2 + 2x - 15)z_6' + (4x - 8)z_6 &= 0, \\ (x - 1)(x + 1)(x - 3)z_7'' + (9x^2 - 18x - 3)z_7' + (16x + 16)z_7 &= 0. \end{aligned}$$

Their general solutions can be obtained from (16), according to the related substitutions.

References

- [1] B. Piperevski. Sur une formule de solution polynomme d'une classe d'equations differentielles lineares du duxieme ordre, *Bulletin Mathematique da la SDM de SRM*, Tome **7-8**, 1983/84, 10-15.
- [2] B. Piperevski. One transformation of a class of linear differential equations of second order, *Proceedings, Department of Electrical Engineering, Skopje*, Tome **6-7**, 1990, 27-34.
- [3] B. Piperevski. On class of linear differential equations of second order, *Bulletin Mathematique da la SDM de SRM (Skopje)*, Tome **14**, 1990, 65-68.
- [4] B. Piperevski. One generalization of one of the Rodrigues formula, *Proceedings, Department of Electrical Engineering, Skopje*, Tome **5**, 1987, 93-98.

^{1,2} Faculty of Electrical Engineering
P.O. Box 574, 1000 Skopje, MACEDONIA

Received 30.09.2003

e-mails: ¹ borom@etf.ukim.edu.mk , ² hadzieva@etf.ukim.edu.mk

^{3,4} Military Academy "General Mihailo Apostolski"
Vasko Karangelevski bb
1000 Skopje, MACEDONIA

e-mails: ³ nevenase@yahoo.com , ⁴ trendov@yahoo.com